Czech ||
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Co jsi délal? / Co jsi délala?

minuly Ctvrtek

vCera (yesterday) minuly rok

minulé pondéli
minuly mésic o
minuly tyden

o vikendu



jist
v restauraci

veleret
doma

Clovéde nezlob

sel

divat se
na televizi

jit spat
v 10 hodin

nakupovat
jidlo a piti

jist
polévku

vstavatv 7
hodin

uklizet

divat se
na zajimavy
film

vstavat
v 5rano

tancovat
v klubu

poslouchat
hudbu

pracovat
na pocitaci

vecerfet
v restauraci

Jdi 2 policka
zpatky

=

nakupovat
v supermarketu

pracovat
v kancelafi

hrat
volejbal

nesnidat

vecefet
v restauraci

pit ucit
cervené vino

Jdi 2 poli¢cka
se anglicky zpatky

<=
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Word order in a Czech sentence

* The word order in a Czech sentence is very flexible.

* V sobotu rano jdu do kavarny na snidani.
e V sobotu rano jdu na snidani do kavarny.
* Do kavarny na snidani jdu v sobotu rano.
* Do kavarny v sobotu rano jdu na snidani.
* Na snidani do kavarny jdu v sobotu rano.
* Na snidani v sobotu rano jdu do kavarny.

* All the sentences above have the same meaning. , Saturday morning | go to
breakfast in the cafe.”.

* But there are some “words” which are always placed in the same position in a
sentence.



Druha pozice (The second position in a
sentence)

In the Czech language, there are two ,words” which are strictly placed in the
second position.

 Reflexive particle SE (jmenovat se, divat se...)

e Past tense auxiliary verbs (jsem, jsi, jsme, jste)

* The second position doesn‘t necessarily have to be the second word in a
sentence, but it is placed after the first piece of comprehensive information.

* Kdy se divas na televizi? Jak se jmenujes?

* Divam se na televizi rano. Jmenuju se Eva.

* Rano se divam na televizi. Moje maminka se jmenuje Dana.

* V sobotu rano se divam na televizi. Moje starsi sestra se jmenuje Karla.

Kazdou sobotu rano se divam na televizi.



Doplnte reflexivni sloveso se na spravne misto ve véte.

e Jak jmenujes? —

e Jmenuju Filip Dvorak. —

* Moje maminka jmenuje
Alice Dvorakova. —

e Muj tatinek jmenuje Jifi
Dvorak.

* Muj mladsi bratr jmenuje
Vojtéch Dvorak.

* Moje starsi sestra jmenuje
Klara. Je vdana a
nejmenuje uz Dvorakova.
Ted jmenuje Novotna.

Jak se jmenujes?

Jmenuju se Filip Dvorak.

Moje maminka se jmenuje Alice
Dvorakova.

MuUj tatinek se jmenuje Jiri
Dvorak.

MuUj mladsi bratr se jmenuje
Vojtéch Dvorak.

Moje starsi sestra se jmenuje
Klara. Je vdana a nejmenuje se
uz Dvorakova. Ted se jmenuje
Novotna.



Doplnite auxiliar ,byt” na spravné misto ve vete.

e (Ja) Snidala v 7 hodin rano. * Snidal jsem v 7 hodin rano.

* (Ty) Vstaval brzy rano. e V/staval jsi brzy rano.

e (My) Sli do koly. e Sli jsme do gkoly.

* (Vy) Cetli v knihovné knihy o e Cetli jste v knihovné knihy o
anatomii. anatomii.

* (JA)V patek rano pracoval a psal  \/ patek rano jsem pracoval a
test. psal jsem test.

When you use a reflexive verb in the past tense, the auxiliary verb is first in the
second position:

,Dival jsem se na televizi.”
,UCila jsem se anatomii.”
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» 11, ;ﬂ.l}nplﬁte sloveso. Pozor na druhou pozici! Pak kontrolujte poslechem.

Napiiklad: Byl jsem doma. Viera jsem byl doma.

1. Byl jsem v restauraci,

Jsembyl v restauraci,

] 1 [ ——————
. Pracoval jsem doma,
Vpdatek ....................

. Bydlel jsem v Praze.

Jsempracoval Cviieaa... doma,

Minuly rok ............. Jsembydlel

.. v Praze,
+ Byla jsem v kancelafi.
Ve stfedu ...................

+ Bylijste doma? _ .
Veter ... Istebyli

Jsembyla eveeneees. Vkancelafi.

civieenn... doma?

. Studovala jsem v Anglii.

Minulgrok ... Jsemstudovala - .o

. Vafili jsme gulas.

Vinedéli o jsmevarili gulas.

. Spal jsem v hotelu,

jsem spal

OviKenau .......ovvvvviiiiirenees vevvvver. Vhotelu.

. Cetl jsi tu novou detektivku?

U oo dsicetl v novou detektivku?

10.Divali jsme se na ten novy film,

V nedéli Jsmesedlvall na ten novy film,
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P 17. Zméiite véty podle modelu. Pozor na druhou pozici.

Nap#iklad: Byl jsem v restauracl. VZera jsem byl v restauraci,

. Jedl jsem knedliky. Vera ...........

. Spala jsem. O vikendu .........

. Vafil jsem guld3. Véera .................

. Cetl jsem detektivku. Minuly tyden ................

1

2

3

A

5. Méla jsem hlad a Zizen. Rano ............

6. Dival jsem se na televizi, Vferavnoci ..........
7. Byl jsi vieraveferdoma? Ty .................

8

. Vid&li jste ten zajimavy film? Vy .....................

P 18.V kazdé vété je chyba v druhé pozici. Opravte ji.
Napiiklad: Vefer vidéla jsem zajimavy film, - Veler jsem vidéla zajimavy film.

1. Véera byli jsme cely den doma. - ......

2. Jsme nakupovali v supermarketu. - ..............

3. Viera vefer méla jsem velky strach, protoZe cetla detektivku jsem. —..............

4, Jsme nechtéli jist doma, jsme chtéli jist v restauraci. — .....................

5. Dneska odpoledne spal jsi? - ........



Useful phrase

 When using reflexive verbs in the 2nd person singular, the reflexive
,se“is contracted:

Dival jsise-na televizi?
Dival ses na televizi?

Jak jsise-mél o vikendu?
Jak ses mél o vikendu?

Co jstst+koupil?
Co sis koupil?



Kde byla Marina?

* Dopoledne byla
A) v praci
B) ve Skole
C) vrestauraci

* Odpoledne byla
A) na mitinku
B) nakoncerté
C) na konferenci

* Potom byla
A) ukamarada
B) ukamaradky
C) udoktora



* dokiora # hotelu » restauraci » skole « kiné « obchodé » kancelafi » divadle « hospodé
e klubu ® nemocnici » bance » kamarada » kamaradky e firmé « supermarketu e letisti
e Praze o kavarné e parku e praci e zastavce e univerzité e doktorky

vive ha u

Hotelu p»
iSti oktora
Restauraci letisti

Skole zastavce
Kiné univerzité
Obchodé
Kancelari
Divadle
Hospodé
Klubu
Nemocnici
Bance

Firmeé
Supermarketu
Kavarné
Parku

Praci

kamarada
kamaradky

Praze




The locative case

You already know two Czech cases - nominative (a basic form of a
word) and accusative (which we use to express a direct object in a
sentence).

Today we will speak about another case — the locative.

One of the meanings of the locative is to denotate location and it is the
only one of the Czech cases which cannot be used without a
preposition.

The prepositions used with the locative are for example: v, ve, na.



See the table for the endings of the locative.

Adjektiva? Substantiva®*

-y adjektiva -i adjektiva lll. deklinacni
(tvrda) (mékka) l. deklinacni skupina skupina
Nominativ Nominativ Nominativ sg. konci na Il. deklinaéni skupina™ Nominativ sg.
sg. kondina sg. konfina konsonant/konsonant bez Nominativ sg. konéi na konsonant s konci na -a, -st,
-y -i hacku®, -a, -o hatkem, -e/-&"", -c, -j, -tel, -el, -ev -i

novem modernim studentu/studentovi muzi/muzovi kolegovi

novem modernim obchodu/obchodé pocitaci -

nove moderni skole restauraci, kancelari mistnosti

Novem modernim kinu/kiné parkovisti nadrazi

Some masculine inanimate and neuter nouns of the 1st declension group can alternate the endings -u and -e/-& (v obchodu/v obchodé, v kinu/v kiné). Some nouns,
e.g. borrowed words or the nouns ending in -h, -ch, -k, -r, -g, have only the ending -u (vlak - ve vlaku, supermarket - v supermarketu). Most months also have the
ending -u (v lednu, v dnoru, v bieznu).

In the feminine nouns of the 1st declension group, some consonants are softened, e.g. k = ¢, h = z (doktorka - mluvim o doktorce, Praha - mluvim o Praze).

In the nouns of the 1st declension group, the ending -é after d, t, n, m, p, b, v, f is used. Compare: Mluvim o skole. x Mluvim o kavarné.



l Historical changes in language development

Knowing about historical morphological and phonological changes may help you understand certain phenomena in the language today.

1. Alternation of i - 0:
diim - domy, v domé, stiil - stoly, na stele, moct - miiFu, pomoct - pomiiZu, mij - moje, tvilj - tvoje

Why? Because historically the sound ( developed from o: dom » duom » diim,

2. The fleeting e
den - ve dne, dva dny
tatinek - mam tatinka, tatinkiv

Why? Because old Czech had the sounds b (soft yer) and v (hard yer). These sounds changed: starting from a word’s end, every odd yer disappeared and
every even one changed into e, e.g.: dunw - den, dvny - dny. That's why the sound e disappears in the declined singular forms and in the plural forms.
Most masculine nouns ending in -ek, -ec and -en have a fleeting e, e.g.: tatinek, Vietnamec, den, as do most feminine nouns ending in -ef, e.g.: pisefi. In
our textbook we warn you about the fleeting e by underlining it on the vocabulary pages and in the glossary.

3. Alternation of certain consonants before -i and -e:

h » z,%
ch » §
k » ¢
r = F
g » 2
d » d
t o+ f
nos i

Why? Put very simply, we can say that the hard consonants h, ch, k, r, g, d, t, n "cannot stand™ the added endings e and i and react to them by changing
(see above). We find this change in the following grammatical phenomena: .

al in the nominative plural of masculine animate nouns, e.g.: doktor - doktofi, kluk - kluci, student - studenti [studenti]

b) in the nominative plural of masculine animate adjectives, e.g dobry - dobfl, hezky - hezcl, tlusty - tlusti [tlusti]. However, in everyday spoken Czech
this change does not take ploce.

¢} in the locative and dative of feminine nouns, e.g.: maminka - mamince, Praha - v Praze

d) in the comparative of adjectives and adverbs, e.g.: kritky — krat3i, drahy - draZ&i

) in feminine forms of possessive adjectives, e.g.: maminka - mamingin, Barbora - Barbofin

f1 in diminutives, e. g.: kralik - kralitek

4, Sound shifts

In the past the vowels a, o and u changed after the soft consonants £, 5, &, 7, d, £, i, c and | as follows:
-a, -0 ¥ -2 (e.g. vesnica » vesnice, srdco » srdce)
-u ¥i (e.g. juh 3 jih)

Put simply we can say that this resulted in two types of noun declension:
- hard declensions (the 1st declension group in our textbook)
- soft declensions (the 2nd declension group in our textbook). See the tables on p. 202 and 203.



P> 2. Kde jste byl/a véera? Procvicujte substantiva
z 1. deklinaéni skupiny v lokalu sg.

Napfiiklad: supermarket — Byl/a jsem v supermarketu.

Byl/a jsem .....

2. hotel = v hotel..U

3. divadlo - v divadl €. 7. hospoda - v hnspud.ﬁv’:.

P> 3. Kde jste byl/a v€era? Procvicujte substantiva
z 2. deklinaéni skupiny v lokalu sg.

NapFiklad: |eti3té - Byl/a jsem na letisti



e hotel » restaurace » Skola # kino  obchod e kancelar e divadlo « hospoda e klub » nemocnice

e banka e firma e supermarket e leti5t& » Praha  kavarna e park e prace e zastavka # univerzita

-U

hotelu
obchodu
klubu
supermarketu
parku

-@

wr

-

restauraci
kancelari
nemocnhici
letisti
praci

skole

divadle

bance

zastavce

Praze

kiné
obchodé
hospodé
firmé
kavarné
univerzité

Masarykoveé univerzité
Brné







Kde jsi byl / byla (vCera, minuly tyden,
minuly mesic, minuly rok...) ?

Byl / byla jsem v kine.
Byl / byla jsem na letisti.



Reflexive verbs

There are special verbs in the Czech Language called reflexive verbs.

jmenovat se, divat se, myt se, oblékat se, etc.

What does this pronoun "se" mean? In the Czech, we have two kinds of "se".

1) "Se" means nothing - It's just part of the verb that doesn't change. Its meaning has disappeared over time.

2) 2) The pronoun "se" can mean itself - An example: the verb myt x myt se. "Myt" - means to wash something. "Myt se" - means

washing oneself.

But even Czechs do not recognize the verbs in which “se” means something and in which there is only an empty formal part of the
infinitive. Even Czechs have to learn this when learning the meanings of verbs. You will therefore have nothing else to do. |

recommend you always check it in the dictionary (for example, dict.com) if the verb is reflexive or not.



